HW 2: 2.2 Separable egns, slope fields
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Set-up Notes: Note volume, radius
and surface area are all changing as
functions of time. Let’s denote
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Slope field for the Snowball problem

.VK =

~0.3%(4%pi)~(2/3)*(3)~(1/3)*y~(2/3)
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Example:

You have $30,000 in a bank account.
- The account earns 2% annual
interest, compounded continuously.
- In addition, you withdraw money

throughout the year totaling about
$1000/year.

When will you run out of money?
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Slope field for Bank Account Example

O_.-—-—___—-,_._--—-_,.--___-.-- T ittt i i e
e e —— it i i e
e».

O,‘

T — — — — — ———m — —— —— —es s —— e e e e
i —
k‘ﬁ—m_ M-“_MNMHM“M%MH—_
T— T

0+

T— T

G~~~ Y

T T

el 4 acs
lF; ‘\ &Y )
w ‘/{\Lj
&
<__b/ Jdo >
|
ey
1{' # l} a A
J: |
|
ShAnh
50



Example: This new equation is separable!!

Consider Solve it, then rewrite your final

dy ) answer in terms of y and x.

—_— X —
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Slope Field for last example
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